
B

C

E

D

378 56

F

2 1

1

4

A

B

C

E

D 

F

78 56 4 3 2 1

A

2021-08-XX

28.048.0
14.9

4910.8

28
70
.2

220
 IN
CH

Date MdifierModification ItemsSignal

Material Code Material Code

Design

Page No.

Review Weight Proportion

Total 
number Version No.

138-inch all-in-one Display Product Model 

Size Tolerance (mm)

± 0.2500 ＜X≤1000

± 0.41000 ＜X≤1500
± 0.51500 ＜X≤2000

± 0.10＜X≤500



B

C

E

D

378 56

F

2 14

A

B

C

E

D 

F

8 56 4 3 2 1

A

1049 1049 1049 1499

28.0--

48.0--

6.6--

35
35

13
72
.5

4910.8

28
70
.3

Signal Modify ModifierDate

Screen Thickness

Thickness with Side Edge Decoration

Distance Between the Device and the Wall

Wall mount installation diagram
165-inch all-in-one display

M8*25

Hooks

Wall mount bracket

Expansion screw set (hole punched 
in the wall to fix inside the wall)

A Enlarged view

M8*80

Hexagon head bolts with 
flat spring washers

Installation Instructions:

1. Install the wall-mounting bracket:

a.  According to the indicated wall-mounting bracket hole positions, confirm the positions of the drilling holes on 
the wall by combining with actual on-site measurements. Mark the positions on the wall based on height requirements.
(For a 600x3 wall-mounting bracket, it is recommended to use 6 points; for a 600x2 wall-mounting bracket, it is 
recommended to use 4 points. Reserve other positions. Use a level to ensure the accuracy of the drilling points.)
b.  Use an electric drill with an M10 drill bit to drill installation holes for M8x80 expansion bolts. The hole depth should be 
10 mm, and the precision requirements should not exceed 1 mm. (If the drill bit is inclined and contacts built-in reinforcement
parts, a re-drilled hole may be selected)
c.  Install M8x80 expansion bolts into the drilled holes, ensuring the distance between the two bolts is 600 mm, and that 
wall-mounting brackets pair up.
d.  Check if the mounting distance of the wall-mounting bracket is accurate. The criteria are: 1) level; 2) the distance between 
the two brackets if accurate. Tighten the adjustment screw to check if the bracket meets the requirements. 
If any inaccuracy is found, readjust before fixing the bolts.

  2.   Install the numbering box:

a.  Route the inside connection lines and connect the screened signal lines and flexible flat cables (FFC).
b.  Each standard box comes with five cable label plates. Fold the top and bottom into each other and adjust the position 
at will. Fix the label plate and insert it into the required hole on the numbering box. Attach the tags on the top left and bottom 
right corners of each faceplate.

3.  Screen connection lines:

Connect the internal connection lines and link the power cables, signal cables, and FFC cables.

4. Module connection:

Refer to the user manual for details.

Lower Bezel Control Box

Connection plate Connection plate Connection plateConnection hole to wall

Recommended fixing point locations 
for wall mounting strip fixing bolts

Wall mounted bracket assembly diagram


